
1 Single resonance implementation test
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LOI:

Corre
tion: add the fa
tor

�

p

Q
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to the se
ond line in the equation (7) of LOI.

d�

d


K

=

d�

T

d


K

+ �

L

d�

L

d


K

+ �

T

d�

TT

d


K


os(2�

K

) +

q

2�

L

(1 + �

T

)

d�

TL

d


K


os(�

K

) (3)

M

LOI

�




�

N

�

Y

�M

LOI

=

< T

em

>< T

de


> d

J

r

�




��

N

;��

Y

M

2

R

�W

2

+ i�

tot

M

R

(4)

Analyti
al 
al
ulation of the integrated 
ross se
tion parts at W = M

R

when J

R

= 1=2

yields:
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GEAN:
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where H
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Integrals of (3) and (7) 
oin
ide with (5), when A

12

6= 0 and S

12

= 0.

Integrals of (3) and (7) 
oin
ide with (6), when A

12

= 0 and S

12

6= 0.

Integral (6) does not go to 0 when Q

2

goes to 0. (?)


